1jo
ﬂqn_wo

ﬂo
ol
B
Tl

i

© AHAolt.

@ o7y



O 27] Sl A 9] =7t 67191 HhaAE =kt

1=
Q A1 © AHE © o7t
@ A2 @ L7471




3 Q7Y

® A=



+ W 7= 4 7ol

© 7 HAH 2o




J

o}
o|J
Y

=
o

ol







Hol=?

@ 250 ® 350

3 200

® 110

D 100



8.

e g2 A | & A= 2 JAXNFHE 1 A7
AMEE?




[anl)
o|J
S

]

%
<F
ofi

S84} 1}

1
o|J
NIl

T

1}

T
1
No

oln




10. o5 139 AA ABCD £ tiZHAd AC & 0= stof 214A14
o 7= A=




11, o2 287 2 4]
= — — = el
A7 dAEF S S 2o WO 22 T o] Hol=?

rlo
o,
5
l_ﬂ
oflt
o
i
I
filo
A
lo
Ll
_O\L
2

@ 2cm? @ T7cm? ® 10cm?
@ 14cm? B) 28cm?2



o Mo

=5

12, g T3 2L 4

ANE A=Y AA5E e
Fstoizet.
[
Nl
/J s
1
1
|
6
|
\
\
\—l []
~9-




13. o=

g ORI} Z2 =g A 1S FO = 510 360° ]
SUA7 BAAE A5 BFSE gHoz g, <P
S 1), Selo] Wolg Fatolel. .

‘\
8cm
/‘
/
/
~5cm~
YEE
=

cm






15. 9232752

4 o] %u}.

@ @ ®© ©

o)A 9] =]l =

SHAE Sl 2

SAE a5 &
= wge A gEol,

10

2 QAL sppole),




16.

cm

152l 24le]7t 240cm

, o 27159



17. thg 20| A2)50 Pyolg Fateler




= a2 2

SFOo=2 5t 747} A1 w, 7= AA
1=}
i}

~~4cm--




19. AgwAel 2 BAelo] S dFste] whE
7HTE 0}0131'.

5 EER A

1A =5 o] mAE] 9]

EO



B5iet
o},

]

R
¢}

Attte]Eoltt.

©
e g zgolt
A=
211—

:?J;Ud
j
=
j
=
o]
ar

o zT AT _ze
T BT %O

o}

B8

2oy ZpB R W] A4t 1 )

. H
-n7—|‘g

—_—

ﬁo

A4

@ A3,



21. ) 47} 712 e ATRAS] BAe 4E o), Bl 47}
Vg AL ArhaAe] BAR0) ASE bRt & T, a - bo G2
Fatelet.

Yk
=%



22. the 23 e Aol ¢lct o] A
m? <

o] By o A F+5hH?
@ 0.032m? @ 0.32m?
3 3.2m3 @ 0.035m?

® 0.35m?




23. the 9B HE Poolet.




17)% mopo]

[e)
L

ﬁ_, x O] 22

2

O
=

2o o] Z

Q@ 2 3 3 @ 4 B 5

1



25. the 2 2o] AE2 Uo|7} dem 2 F 2 A7k B WA Solrte
A7) wopo] Bulo] A 5 o] K2 Lprix) Ry

32 65 66
@) gﬂcm3 @) Zﬂcm?’ ©) gﬂcm3
@ 6—77rcm3 ® @ﬂcm?’



